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Introduction to the Split Strategy

In this lesson, we will learn how to apply the split strategy to solve two-digit addition problems with abstract
numbers and real-world applications.

The split strategy is a powerful tool for solving two-digit addition problems. It involves breaking down the
numbers into tens and ones, and then adding the tens and ones separately.

Example 1

45+27="7

Using the split strategy, we can break down the numbers into tens and ones:
40+5+20+7="7

First, we add the tens: 40 + 20 = 60

Then, we add theones: 5+7 =12

Finally, we add the tens and ones: 60 + 12 = 72

Pictorial Representation

Now, let's use pictorial representations to visualize the split strategy.

We can use number lines to represent the numbers and the split strategy.
Example 2

45+27 =7

Using a number line, we can represent the numbers and the split strategy:
40+5+20+7="7

First, we add the tens: 40 + 20 = 60

Then, we add the ones: 5+7 =12

Finally, we add the tens @i eH&8260apit pasipps. Allrights reserved.



Abstract Symbols

Now, let's use abstract symbols to represent the split strategy.

We can use abstract symbols to represent the numbers and the split strategy.
Example 3

45+27 =7

Using abstract symbols, we can represent the numbers and the split strategy:
40+5+20+7="7

First, we add the tens: 40 + 20 = 60

Then, we add the ones: 5+7 =12

Finally, we add the tens and ones: 60 + 12 =72

Real-World Applications

Now, let's apply the split strategy to real-world scenarios.

We can use the split strategy to solve real-world problems, such as calculating the total cost of items at a
store.

Example 4

A book costs $45 and a pencil costs $27. What is the total cost?

Using the split strategy, we can break down the numbers into tens and ones:
40+5+20+7="7

First, we add the tens: 40 + 20 = 60

Then, we add the ones: 5+7 =12

Finally, we add the tens and ones: 60 + 12 =72
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Practice Questions

Now, let's practice using the split strategy to solve two-digit addition problems.
Here are 10 practice questions:

. 45+27="?
.34+19="?
.56+23="
.78+42="?
.23+17="?
.45+39="7
.67+25="7
.89+34="?
.43+29="?
.59 +46="7
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Word Problems

Now, let's apply the split strategy to word problems.
Here are 5 word problems:

1. A book costs $45 and a pencil costs $27. What is the total cost?

2. A toy car costs $34 and a toy truck costs $19. What is the total cost?

3. A shirt costs $56 and a pair of pants costs $23. What is the total cost?

4. A bike costs $78 and a helmet costs $42. What is the total cost?

5. A video game costs $23 and a controller costs $17. What is the total cost?
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Advanced Concepts

Now that we have mastered the split strategy, let's explore some advanced concepts to further enhance our understanding of two-
digit addition. One such concept is the use of mental math to solve problems. Mental math involves using estimation and calculation
strategies to solve math problems in your head.

Example 5
45+ 27 =7

Using mental math, we can estimate the answer by rounding the numbers to the nearest ten. 45 is approximately 50, and 27 is
approximately 30. So, the estimated answer is 50 + 30 = 80.

Mental Math Practice

Now, let's practice using mental math to solve two-digit addition problems.
Here are 10 practice questions:

.34+19="7
.56+23="7
.78+42="7
.23+17="7
45+39="7
67+25=7?
.89+34="7
.43+29="7
.59+46="?
.75+32="7

COVENO U A WN=

—_—

Real-World Applications

Two-digit addition has numerous real-world applications, from calculating the total cost of items at a store to determining the total
distance traveled on a road trip. Let's explore some examples of how two-digit addition is used in real-world scenarios.

Case Study: Grocery Shopping

A shopper buys a carton of eggs for $2.45 and a loaf of bread for $1.27. What is the total cost of the items?
Using the split strategy, we can break down the numbers into tens and ones: 2.40 + 0.05 + 1.20 + 0.07 = ?
First, we add the tens: 2.40 + 1.20 = 3.60

Then, we add the ones: 0.05+ 0.07 = 0.12

Finally, we add the tens and ones: 3.60 + 0.12 = 3.72
Word Problems

Word problems are an essential part 6fnxigth28dtidatiosaasthéy rslipraterdehts develop critical thinking and problem-solving skills.
Let's explore some word problems that involve two-digit addition.

Example 6

A book costs $45 and a pencil costs $27. What is the total cost?

Using the split strategy, we can break down the numbers into tens and ones: 40+ 5+20+7 =7
First, we add the tens: 40 + 20 = 60

Then, we add theones: 5+7 =12

Finally, we add the tens and ones: 60 + 12 = 72



Word Problem Practice

Now, let's practice solving word problems that involve two-digit addition.
Here are 10 word problems:

. A toy car costs $34 and a toy truck costs $19. What is the total cost?

. A shirt costs $56 and a pair of pants costs $23. What is the total cost?

. A bike costs $78 and a helmet costs $42. What is the total cost?

. A video game costs $23 and a controller costs $17. What is the total cost?

. A book costs $45 and a pencil costs $27. What is the total cost?

. A carton of eggs costs $2.45 and a loaf of bread costs $1.27. What is the total cost?
. A pair of shoes costs $67 and a pair of socks costs $25. What is the total cost?

. A bag of apples costs $89 and a bag of bananas costs $34. What is the total cost?

. A toy robot costs $43 and a toy dinosaur costs $29. What is the total cost?

. A board game costs $59 and a puzzle costs $46. What is the total cost?
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Mental Math Strategies

Mental math strategies are essential for solving math problems quickly and efficiently. Let's explore some mental math strategies for
two-digit addition.

Example 7

45+ 27 =7

Using mental math, we can estimate the answer by rounding the numbers to the nearest ten. 45 is approximately 50, and 27 is
approximately 30. So, the estimated answer is 50 + 30 = 80.

Mental Math Practice

Now, let's practice using mental math to solve two-digit addition problems.
Here are 10 practice questions:

.34+19="?
.56+23="?
.78+42="7
.23+17="7
45+39="7
67+25="?
.89+34="7
.43+29="7
.59+46="7
.75+32="?
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Error Analysis
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Error analysis is an essential part of math education, as it helps students identify and correct mistakes. Let's explore some common
errors that occur when solving two-digit addition problems.

Case Study: Error Analysis

A student solves the problem 45 + 27 = ? and gets an answer of 71. What error did the student make?
Using the split strategy, we can break down the numbers into tens and ones: 40+ 5+20+7 =7

First, we add the tens: 40 + 20 = 60

Then, we add theones: 5+7 =12

Finally, we add the tens and ones: 60 + 12 = 72



The student made an error in adding the tens and ones. The correct answer is 72, not 71.

Conclusion

In conclusion, two-digit addition is an essential math concept that has numerous real-world applications. By mastering the split
strategy and practicing with word problems and mental math, students can develop a deep understanding of two-digit addition and
improve their math skills.

Reflection

Reflect on what you have learned about two-digit addition. How can you apply the split strategy to solve real-world problems?
What are some common errors to watch out for when solving two-digit addition problems?
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Introduction to the Split Strategy

In this lesson, we will learn how to apply the split strategy to solve two-digit addition problems with abstract
numbers and real-world applications.

The split strategy is a powerful tool for solving two-digit addition problems. It involves breaking down the
numbers into tens and ones, and then adding the tens and ones separately.

Example 1

45+27="7

Using the split strategy, we can break down the numbers into tens and ones:
40+5+20+7="7

First, we add the tens: 40 + 20 = 60

Then, we add theones: 5+7 =12

Finally, we add the tens and ones: 60 + 12 = 72

Pictorial Representation
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Now, let's use pictorial representations to visualize the split strategy.

We can use number lines to represent the numbers and the split strategy.
Example 2

45+27 =7

Using a number line, we can represent the numbers and the split strategy:
40+5+20+7="7

First, we add the tens: 40 + 20 = 60

Then, we add the ones: 5+7 =12



Finally, we add the tens and ones: 60 + 12 =72
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Abstract Symbols

Now, let's use abstract symbols to represent the split strategy.

We can use abstract symbols to represent the numbers and the split strategy.
Example 3

45+27 =7

Using abstract symbols, we can represent the numbers and the split strategy:
40+5+20+7="7

First, we add the tens: 40 + 20 = 60

Then, we add the ones: 5+7 =12

Finally, we add the tens and ones: 60 + 12 =72

Real-World Applications

Now, let's apply the split strategy to real-world scenarios.

We can use the split strategy to solve real-world problems, such as calculating the total cost of items at a
store.

Example 4

A book costs $45 and a pencil costs $27. What is the total cost?

Using the split strategy, we can break down the numbers into tens and ones:
40+5+20+7="7

First, we add the tens: 40 + 20 = 60

Then, we add the ones: 5+7 =12

Finally, we add the tens and ones: 60 + 12 =72

Copyright 2024 Planit Teachers. All rights reserved.



Practice Questions

Now, let's practice using the split strategy to solve two-digit addition problems.
Here are 10 practice questions:

. 45+27="?
.34+19="?
.56+23="
.78+42="7
.23+17="?
.45+39="7
.67+25="7
.89+34="?
.43+29="?
.59 +46="7
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Word Problems

Now, let's apply the split strategy to word problems.
Here are 5 word problems:

1. A book costs $45 and a pencil costs $27. What is the total cost?

2. A toy car costs $34 and a toy truck costs $19. What is the total cost?

3. A shirt costs $56 and a pair of pants costs $23. What is the total cost?

4. A bike costs $78 and a helmet costs $42. What is the total cost?

5. A video game costs $23 and a controller costs $17. What is the total cost?
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